w31 M\ =

mlgp—————

M
) I ?\O&M%,a"x\. P2k L,ener Ry, Ay N,

1=4
A
Pex) = L Ly, €5 €
(=4

JA WA
PLPogy: P Z&ede) =7 Pene)

Ar Vi
L ey Ne) = D Ly ed 38

®

1

i< A
WA
Z < v D) L)
1=

B

A
N
& | P 2\% e;> e
39\‘ “x“éﬂ) MWV;‘A‘) 9‘1," QU\. OUB“ OQJ‘A- b ;:f} 1 i J

ua - =
BPoOl=8 Texneye =T xed = -‘20«‘“>
=4 ‘=4 ixa
é\] “j X D = el =4 @

n e A
?(X) = i"\xff’.? e = Z<%zﬁ:e;>e“~"
I

tea i=4

(LN
w '
A : . A4 coredllune e
CA T (e et - seez 2 e
'3 ,i, %.H ‘ Wzl ) % 17
b Pl Wy 2 ua s AL

) X, ) — VS @

=b -9"“? “?(2‘)'\ s
2 &N Al

WA 2,



W Se wtdn AN =w %, t, ONB €
W
T )4, eye

17

W
A = ‘i <V,

W
- : ) “
w .P) (%) = ALRY]— 'Pc)d fin EJ(X,?.)?( "":(X,??? P'_

S A

w
= TS e @

(i %maq
=b A4- P ik avthoguvehe ‘?io\‘\c\ch\&k_
V)
WA,
Wt 208 BIE
E:AQU )

o had s [ENE K]

LTk A

P

‘ﬂ-* P: < ;e;>€\‘
Wy A

-~

AL A

b TN (A7) tv\ k
- M%) = § T ek @

-5 ko Pz R (4-9P)

W,
BUAP) = | Threl el
t=A

W,
Poc (A-3) i AR :k;c—K"x
1z

@

= (4% : b (A-F)



V) hwc\/ = Mun B P 4 Mua A ¥

- JJ\M R]{(k? 4 Mue TLL A“p)

o

=> A (P), -9 V) = v

Awy{ww‘- ‘;>(¢-0 V\Mq’ Képl\/) Mt’\%é‘@f"?)f\/)

M, "
=D )(':.‘Zb(t‘ o wa A Xz -):yl- e’

A (2 Wb @

LV
« " 1
=b Zx'e - Zy'e =0 d'e ¢ Prwdh ebag, w0 o

PTn-dA

W"‘L’ﬂ\uwﬂ LWONB) | =b X' =0 /-fll"' o ‘é

!

b
=D V= PV @ (4- V)



